o(d dxy) (cm)
o(d dz) (cm)

=
<

.9 -! 11111 |-4.-| 11111 1 11 E 1] 1 11111 | 1111 .9 :! : E
T L2 e s B[ 5 :
=Rl T = ooft- Tt
I e : : -9 0.8 ; . L] ,. _0.-0- _0_

1 5 : hd E
0.8l i i f i 0.7 i i i i i
-3 -2 -1 0 1 2 3 3 -2 -1 0 1 2 3

—=— DQM_CKF_XiMinusNOPU_base mline)
—*— DQM_CKF_XiMinusNOPU_retrainOldFiles125_v2_prelimWPM_epoch2

1

ald ¢) (rad)
o(®p Jp)

1072

[aN
=9
~N oA
-
'_
N

-o—o1-4-1-9 0.9

s
hd
N H
LB LR LR RN

o 1 2 3 0835 "1 0 1 2 3

TP @ (PCA to beamline) TP @ (PCA to beamline)

S




	Contents
	Page 1


